.HFM 1 :

. the start frequency of the signal 1s f ; the end frequency of the signal 1s fy;, the pulse width of the chirp signal 1s T,

. HFM2:

. the start frequency of the signal 1s 1} ; the end frequency of the signal 1s fy,, the pulse width of the chirp signal 1s T;.

Speed of moving target v
Distance R

Transmit signal
HFMI1

Peak arrival time t; of
the HFM1 echo sighal ————
after matched filtering

Transmit signal
HEM?2

Peak arrival time t, of
the HFM2 echo signal ——m—
after matched filtering

Use the Doppler
generated by the
target ,establish the
delay relationship of
HFMI1 echo signal ———
and HFM2 echo
signal ,solve the
distance R and

speed v .
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